O0'T1J O'0NIV7 O"ININ O'IA1Y

* K x
*
* ETA *
* *

* g *

C€

1X1NA 1NN

ETA qTwixn P1TO X7 11027 YN (JA1v) TN
o'nw™ J1anY7

omuoum

JINTN "M ,ATY0 NIXPN00IP :O'nw™  *
,O01INN X 2170, 031 TOXXT NINYINY 0aw1n
"T31 ]1027 YV NI'XPI00I1P 12N, WnW "TIT

:N17V1N1 O"I""IXN
oinna o'n1aan "2 ETA Option 7 'oniy -
N0'n NTNXY7 09130 7W n'nn hanna e
1270 TNXIN 1NN 21V MWIXNn nJNX n1Nan- °

NIT'N* 190N | NIT'N' 190N N 01p vININ nin 21y pniy w1p v"pn SPIT
—— XODIpa TNXINA NN MJpna TNYIN 7D TP nTp FIX3 ZP
(n"n) (Nm) mn (n"n) (n"n)
Clearance 0 Tinst (n"n)
ds
200 50 9 15 40 50 8 057452 M8X90
200 50 9 15 65 50 8 057454 M8X115
200 50 9 15 80 50 8 057455 M8X130
200 50 9 15 110 50 8 057456 M8X160
200 50 12 30 36 70 10 057463 M10X95
100 25 12 30 65 70 10 057465 M10X120
100 25 12 30 80 70 10 057466 M10X140
100 25 12 30 100 70 10 057467 M10X160
100 25 14 50 25 75 12 057471 M12X100
100 25 14 50 40 75 12 057472 M12X115
100 25 14 50 50 75 12 057473 M12X125
100 25 14 50 65 75 12 057474 M12X140
80 20 14 50 85 75 12 057664 M12X160
80 20 14 50 90 75 12 057476 M12X180
80 20 14 50 145 75 12 057477 M12X220
80 20 14 50 200 90 12 057478 M12X290
80 20 14 100 5 95 16 057480 M16X100
80 20 18 100 30 95 16 057481 M16X125
40 10 18 100 55 95 16 057482 M16X150
40 10 18 100 75 95 16 057483 M16X170
40 10 18 100 90 95 16 057484 M16X185
10 10 18 100 140 95 16 057485 M16X235
10 10 18 100 205 95 16 057486 M16X300
40 10 22 160 30 130 20 057491 M20X170
40 10 22 160 80 130 20 057492 M20X215

Spit 7w i-Expert N131N2 N10INAY OINTIN




